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THE WINNING EDGE DEFENCE ACADEMY (WEDA)
SAINIK SCHOOL, CLASS - 6TH

MOCK PAPER - 01 (QUESTION PAPER)

Time: 2 Hrs 30 Min

¥AY: 2 ¢ 30 fA=Te
Sections / THTIT Questions / 9T Maximum Marks / 3f&&dH 3&
Mathematics / 3TfOre 50 50 x 3 = 150
General Knowledge / GTHTT AT 25 25 x 2 =150
InteIIigence/%’{ﬁﬂ'ﬂT 25 25 x 2 =50
English / 3735 OR Hindi / &Y 25 25 x 2 =50
Total / adl 125 300

Instructions:

All questions are compulsory and objective type with Multiple Choice Answers.

There is no negative marking.

In case of ambiguity on any question, the English version be taken as final.

Please use black/Blue ball point pen to completely darken the circles corresponding to the
correct answers.

The last blank pages of the question paper are meant for Rough Work.

The candidate must darken only one circle. If more than one circle is darkened, it will be
treated as a wrong answer.

Please return the answer sheet to the invigilator after the exam is over. The question booklet
can be carried along with by the candidates after the completion of the exam.
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SUBJECT - ‘&’ : MATHEMATICS

1. When 30 is multiplied with a natural number and then divided by the same natural number. The
result comes to be -

STa 30 Y TRt yrp e wEar @ o far sar @ 3k 6T 3wl e fos e & Renfaa frar sman g,
ar aRoTeT 3TaT® -

a) 30 b) 60 c) 15 d) none of the above
2. MMCDLIX is equal to

MMCDLIX fFaa& streR 872

a) 2,549 b) 2,500 c) 2,459 d) 2,561

3. The sum of two-digit numbers and the number obtained by interchanging its digits is 110. If the
difference between both digits is 4. Find the number.

&Y 37ehT Y TEATHT FT AT 31 3TF 31T T HTTH A ol § IIed TE&AT 110 §1 I St s F =

T 3 4 §, A T&aT AT Pforw]
a) 73 and 37 b) 46 and 64 c) 82 and 28 d) 55 and 55
a) 73 3137 b) 46 31T 64 c) 82 3T 28 d) 55 3i¥ 55

4. The cost of fencing a square park at the rate of Rs15 per m is Rs3600. Find the area of the square
park.

15 39 3 HeX 1 eT ¥ T TATFHR U1 FT 913 A Y AT 3600 FIA 1 TATHIT I T AYAP el
AT FifST)

a) 2450m? b) 3600m? c) 1520m? d) 4500m?
a) 2450 T HeT b) 3600 T HieT c) 1520 T Hrex d) 4500 F3T Hex
5. Find A, if A x 12.5 = 1500

IfT A x 12.5 = 1500 § aY A AT HfAT
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a) 100 b) 120 c) 600 d) 42

6. The LCM of two prime numbers is always their

3 SUTST HEATSHT BT LCM T ITHT Bare
a) Product b) Sum c) Difference d) Quotient
a) U d b) TRT ¢) 3iR d) HITHd

7. Simplify: 2.222 + 22.22 + 222.2 + 2222
TRAPBY: 2.222 +22.22 +222.2 + 2222
a) 2234.739 b) 3444.222 c) 2468.642 d) 3241.523

8. The age of three brothers are in the ratio 1:2:3 and the average age of all three brothers is 52. Find
the age of the youngest brother.

T UTSTT B ST BT STUT 1:2:3 § 3R FT WIS BT 3N 3T 52 7 1 HIH BIC UTS Bt Y
I BTl

a) 32 b) 40 c) 26 d) 35

9. Convert the ratio 125:350 in its simplest terms.

SUTH 125:350 B TXATH ¥4 ¥ Ufkafdd &1

a)4:13 b) 5:14 c) 14:5 d) 13:4

10. How many stones of 0.48m? can be fixed on a wall of length 12m and breadth 14m.
12 Hiex T 3R 14 Hiex N AR W 0.48m? & fhd TR Y ST TP d &2
a) 200 stones b) 350 stones c) 420 stones d) 240 stones

a) 200 YR b) 350 URR C) 420 U d) 240 YR
11. What is the value of 5% +6 % -8 %

5% +6%-8 % PT A HTg?

a)3 % b) 5/6 c)1% d)2%
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12. The cost of 2 cycles are Rs 5500. If Rahul has Rs22000, then how many cycles can he buy?

2 TT3fddl Bt PHAd 5500 TUY 21 TS g & UTH 22000 FUA &, @ 78 fha-t Gsferd i
P12

a)4 b) 7 c)2 d) 8

13. Two crore forty three lakhs seventy is written as

A dai a@ R B fRrarwmarg

a) 2,04,00,700 b) 2,43,00,700 c) 20,43,070 d) 2,43,00,070

14. Find the greatest number that will divide 47, 76, 83 leaving remainder 1, 2, 3 respectively.
I8 YaA 951 QAT T PIOTT Sl 47, 76, 83 BT fAHTITT A U HHT: 1, 2, 3 AT I |
a)4 b) 6 c)7 d) 2

15. If a square of a number is added to the square of 15, the result comes out to be 901. Find the

number.
gfe fopedt e & o 3 15 F T A sirsT Se 9 ufkurd 901 34T 8 | HEAT I HIfE]
a) 26 b) 24 c) 34 d) 16

16. Rohan saves Rs.560 and spends 65% of the total salary. Find the total sum of money he earned?
e 560 YT TATAT @ 3R H 4 BT 65% Td BT & | 3T Fd foha=il Y=IRTRT it P2
a) Rs.1600 b) Rs.2400 c) Rs.3250 d) Rs.4000

17. Sam sells a chair for Rs.420, he makes a loss of 20%. To gain 20%, he must sell the chair at what
price?

| TP Al 420 T T AT B, I 20% BT IHAT g1d1 8 | 20% TTH UM & fore 37 Hif fvw
PIAG WR ST TIfT?

a) Rs.550 b) Rs.740 c) Rs.630 d) Rs.580

18. A car covers 360 m in a minute. What will be its speed in km/hr?

TP BR TP e | 360 Hiex @1 gt 00 Sl 31 g} 71l fpedi/der & @ gifte
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a) 15 km/h b) 21.6 km/h c) 14.5 km/h d) 20 km/h
a) 15 fopHi/eer b) 21.6 fopHt/der ¢) 14.5 fdHHI/ger d) 20 fpHi/eer
19. Find the angle which is equal to its supplement.
IE D101 T PIT i) 304 TP & SRR 2|
a) 45° b) 90° c) 60° d) 75°
20. How much water does a cubic swimming pool contain which has a total surface area of 1014m??
T TTHR AT qa § fbam1 urh 81 Gepdr & e oo yiia 8w 1014 a1 Hiew 2
a) 1728m?3 b) 3375m3 c) 2197m3 d) 1000m?
21. Convert 35290 Paise into Rs.?
35290 T Bt TUA | dga?
a) X35.290 b) X352.9 c) X0.3529 d) X3.529
22. The whole numbers and their negatives are called
Ui GRS IR IAF BUTHS S SIS
a) Prime numbers b) Natural numbers c) Integers d) Even numbers
a) 3T &Y b) WPl TN ¢) uifep d) T e
23. Which of the following is divisible by 10 and 5?
T dd e 10 iR s A fRIusa 32
a) 5675 b) 37490 c) 4825 d) 84578
24. Which of the following comes between 1.5 and 2.5?
fFafafea ¥ 9 o4 1.5 3R 2.5 & fia raT g2
a) 1.25 b) 5 c) 1.67 d) 2.7
25. Find the greatest common divisor of 1450, 2040, 1400?

1450, 2040, 1400 BT HETH TTd HTSTP JTd HHo1Q?
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a)2 b) 6 c)9 d) 10

26. In a school, there were four bells which rang after a time interval of 6 minutes, 18 minutes, 20
minutes, 24 minutes respectively. If they ring together at 12:00 pm, then at what time will it ring
together again?

TP W@d A IR it ff oY wun: 6 e, 18 fiFe, 20 fiFe, 24 fiFe & Twg SiaRTa & @1
goral A1 T 12:00 T9 TH T4 Forell §, A @ bR & forey vy e Ty s

a) 2:00 pm b) 5:00 pm c) 4:00 pm d) 6:00 pm

a) GIUgY 2 I b) TITH 5:00 o1 ¢) T 4:00 91 d) ] 6:00 91

27. For class decoration, all the students of class 10th contributed a total amount of Rs. 3721 such that
each student of the class contributed as much money as the number of students of the class. Find the
total number of students in the class.

H&T Pt Folae & T, e 108 & I B A $o 3721 I STANTSH U1, SHUPR Hal P
TS BT A H&T b BE B T F SRR YARIRT &1 ARSI a1l Fem & Sl &) $o |G
RIGEIS LY

a) 37 b) 73 c) 53 d) 61

28. Time taken to complete work by 5 women is 14 hours. If the number of Women are increased by
2, then how much time will be taken to complete the same work?

5 Afgeral gRT &0 GRT B # o 1ar 9wy 14 6 g1 afe afgansi ot W@ 2 3 7¢1 =g,
A THT BTH R HIA | fod=11 997 T

a) 10 hours b) 7 hours c) 8 hours d) 12 hours
29. What is the ratio between a kg and a quarter of a kg?

TS [BaRma 3R T DTS fFatmy & dia &7 3rurd 1 82

a)1:4 b) 4:1 c)2:3 d)3:2

30. What is 12% of 15% of 8 kg 500g?

8 f&T 500 I & 15% BT 12% FIT §?

a) 350g b) 245¢g c) 560g d) 153g
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a) 350 UH b) 245 UTH ¢) 560 UTH d) 153 9H
31. The simple interest at x% for x years on sum of Rs100 will be equalto
100 ¥UY BI AR R x T & T x% PR A ATYURVT AT ____ & IRIGR SR
a)Sl=x b) SI=x? c) SI=100 d) SI = 100x

32. A train of 145m long crosses a bridge of 320m in 31 sec. Find the speed of the train.

145 Hiex &l TH TS 320 HeX @ Y ) 31 Jbs A UR Ht g1 ISt ot Af 719
Biforg|

a)15m/s b) 21 m/s c) 18 m/s d) 7m/s
33. The angles of a quadrilateral are 110°, 105°, 75° and x°. Find the fourth angle.
TP IgUT & BIUT110°, 105°, 75° 3T x° B | TYT HIVT JTd PO |

a) 65° b) 70° c) 30° d) 120°

34. The length of a plot is twice its breadth, and the area of the plot is 128m?2. Find the perimeter of
the plot.

TS Wic P dars ITB! ASTE A ST ? 3R Wi BT A7we 128 91 Hiex 21 wile &1 uRkA™
1 Biforg)

a) 48m b) 50m c) 62m d) 35m

35. A cuboidal wooden block contains 36m? wood. If it is 4m long and 3m wide, then find the height?

TP TATHTPR dhs! & TP H 36m* dhS! gl TS T8 4m TET 3R 3m ANST §, Y ITP! HATS
TTd PIfeTe?

a)4m b) 3m c) 2m d)5m
36. Solve: 45 kg 100g-35kg 50 g

T B: 45 fHUT 100 9T - 35 fHUT 50 U

a)10kg50g b) 10 kg c) 10 kg 100g d) 12kg

a) 10 T3 s0 I b) 10 foam c10fdmicou™m  d)12fdmm
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37. A tetra pack contains 150ml of juice. How many such packs are needed to fill a jug of capacity 1.51?
TSP T 0P | 150mI T 81 1.51 &HAT AT o1 Bt U P g ¥ fobaq A ot sma=aswan gl
a)8 b) 9 c) 10 d) 6
38. What is the perimeter of a regular hexagon with side 5 cm?
5 It YT aTa U Frafira ey &1 ufmg | g
a) 24cm b) 30cm c) 15cm d) 67cm

a) 24 T4t b) 30 T c) 15 I d) 67 HT

39. Rahul bought 6 kg of rice for Rs 2640. He decided to sell a whole quantity of rice at Rs 330 per kg.
Find the profit or loss percentage.

TEA 2640 ¥ U 6 forel ara@ @ilar| 39 9rad &1 T 1 $i 330 $UA Ul foreft R 99
&1 Boar foar | @ ar g1fa ufa=a 3 #ifse)

a) 20% Profit b) 20% Loss c) 30% Profit d) 25% Loss
a) 20% <Y b) 20% BT c) 30% Y d) 25% 81
40. Simplify: 3 [ % +4/3 (12 x 5 + 5 x10)]

TRADY: 3[% +4/3 (12 x5 + 5 x 10)]

a) 160 b) 340 c) 482 d) 564

41. The sum of HCF and LCM of 120, 75and 40is ____.

120, 75 3R 40 P HCF SR LM BTTATT 81

a) 455 b) 125 c) 605 d) 250

42. Convert 560 dag and 600 g into mg.

560 ST 31X 600 ITH B fArctioma & ged |

a) 6200 mg b) 620000 mg c) 62000 mg d) 6200000 mg

a) 6200 fH@IH b) 620000 fHET®  ¢) 62000 FeIH d) 6200000 fHcU™H
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43. What is the product of (-1)? and (-1)37?
(-1)2 3R (-1)*” BT VBT T 3?
a) -37 b) -1 c)1 d) 37

44. A motorist at a speed of 65 km/hr covers a distance in 4 hours and 24 minutes. Find the distance
covered.

TS HieX 1P 65 fondit/der & fd & 4 °9¢ 3R 24 fFTe ® uer g 00 o g1 09 3t 15 gt
I Y|

a) 320km b) 225km c) 368km d) 286km

45, Find the length of a train which crosses a bridge of 160m in 18 sec at a speed of 54 km/hr.

TP YIS D TS 1d DIoTe ot 54 foei/eer &t 1fd & 160 Hiex o g & 18 AHs T IR
CEGikA

a) 110m b) 200m c) 220m d) 120m

46. Name the angle which is more than 180° and less than 360°.

g BV JdT1SE 1 180° | P TUT 360° A BICT B

a) Straight Angle b) Complete Angle c) Reflex Angle d) Obtuse Angle
a) FeTHIT b) guf @ror ¢) ufaad @1 d) 31T BT

47. The length of a rectangle is increased by 20% and breadth is decreased by 20%. What will be its
effect on its area?

U 3ATad P TdTS 20% &1 31 STl @ iR NSTS 20% °eT &I HATd 81 TIPT TSP &Thd U HT
U UST?

a) Increased by 4% b) Increased by 20%
c) decreased by 4% d) Decreased by 20%
a) 4% 1 g b) 20% &1 gfS
c) 4% P HHI g3 d) 20% P HHT

48. Arrange the following into ascending order:

frufefad » smRigt v A srafeud a3
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45900, 45999, 45990, 45090, 45909

a) 45090<45900<45909<45990<45999 b) 45909<45990<45999<45090<45900
c) 45999<45990<45900<45909<45990 d) 45999<45990<45909<45900<45090

49. What is the sum of CMVIIlI and DXLV?
CMVIII 3R DXLV BT IHT RIT 272
a) 1453 b) 1560 c) 1455 d) 1553

50. If the product of two fractions is 15/14. If one of the fractions is 3/7, then what is the other

fraction?
gfe & fial &1 qUFwd 15/14 g1 9fe 3719 A T fie 3/7 8, A gl R R @2
a) 7/4 b) 12/7 c) 5/7 d) 5/2

SUBJECT - ‘B’ : ENGLISH

Read the passage carefully and answer the questions (51 - 55):

Last Saturday, Emily and her family visited the city zoo. Emily was very excited because it was her first
time seeing so many different animals in one place. As soon as they entered the zoo, Emily ran towards
the lion's enclosure. She had always wanted to see a lion up close. The lion was majestic, with a golden
mane and a powerful roar that echoed through the zoo.

Next, they visited the monkey area. The monkeys were very playful, swinging from tree to tree and
making funny faces. Emily's little brother, Jack, loved the monkeys and couldn't stop laughing. They also
saw zebras, giraffes, and elephants. The giraffes were so tall that they could easily reach the leaves on
the highest branches of the trees. After seeing all the animals, Emily and her family had a picnic near the
duck pond. The ducks were swimming gracefully, and some even came close to their picnic blanket,
hoping to get some crumbs. Emily fed the ducks some bread, and they quacked happily.

Before leaving the zoo, they visited the souvenir shop. Emily bought a stuffed lion as a reminder of her
wonderful day. As they drove home, Emily couldn't stop talking about all the amazing animals she had
seen. She was already looking forward to their next trip to the zoo.

51. Why was Emily excited about visiting the zoo?
a) She wanted to buy a stuffed lion.
b) It was her first time seeing so many different animals.

c) She loved having picnics near duck ponds.
d) She wanted to feed the ducks.
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52. What did Jack love about the zoo?

a) The majestic lion b) The playful monkeys
c) The tall giraffes d) The swimming ducks

53. What did Emily and her family do after seeing all the animals?

a) They visited the souvenir shop. b) They ran towards the lion's enclosure.
c¢) They had a picnic near the duck pond. d) They fed the giraffes.

54. What did Emily buy at the souvenir shop?

a) A stuffed monkey b) A stuffed lion
c) A giraffe toy d) A duck figurine

55. Which of the following is an antonym for the word "majestic" as used in the passage?
a) Ordinary b) Impressive c) Regal d) Grand

Directions (56 - 58): Rearrange the following words/phrases to make meaningful sentences. Choose
the correct sequence

56. Has / become / technology / advanced / very

a) Technology very has become advanced. b) Very technology has become advanced.
c) Technology has become very advanced. d) Become technology advanced very has.

57. Running / marathon / the / athletes / the / are / in

a) The athletes are running in the marathon.
b) Marathon the athletes are in running.
c) Running are the marathon in athletes.
d) The in athletes marathon running are.

58. Give one word substitution for a group of lions?

a) Pride b) Animal c) Aviary d) Nestle
Fill in the blanks with the appropriate option.

59. She is interested learning new languages.

a)on b) of c)in d) by

Fill in the blanks with the appropriate option.

60. He is responsible managing the project.

a) for b) of c)in d) on
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Select the correct article.

61. Mount Everest is the highest mountain in the world.

a)A b) An c) The d) none
Write the correct form of the verb.

62. The dog at the sweeper every morning.

a) bark b) barks c) barking d) barked
63. We should cancel our trip. Here the underlined word can be replaced by —

a) allow b) abandon c) create d) none
64. The correctly spelt word is -

a) erasar b) iraser c) eraser d) erasor

65. Identify the tense of the following sentence:
| saw him there yesterday.

a) Present Indefinite b) Simple Past Tense
c) Simple Present Tense d) Present Perfect Tense

66. Identify the part of speech for “diligent" from the given sentence.
The diligent student completed her assignment early.

a) Verb b) Noun c) Pronoun d) Adjective

67. Fill in the blank with suitable question tag-

You live with him, .....cceveiireccenriciennnne ?

a) do you b) don't you c) didn't you d) does you

68. Fill in the blank with correct word: "The chef added a pinch of to the soup."
a) flour b) flower c) flours d) flowers

69. Choose the correct meaning of - Hold one's horses:

a) Keep one's expectations b) Keep one's gift
c) Have patience d) High on energy

70. Choose the word opposite in meaning from the given option:
Ruthless

a) Majestic b) Merciful c) Grief d) Pity
www.wedacareer.com
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71. Choose the correct imperative sentence.

a) What a delicious mango this is! b) We watched TV last night.
c) Have you completed your work? d) Sit down and finish your homework fast.

72. Do as directed:- All you need is love. Identify the kind of Noun

a) love is a proper noun b) love is an abstract noun

c) love is a collective noun d) love is a common noun

73. Fill in the blank with a suitable adverb. We were considering selling the house.
a) heavily b) seriously c) brightly d) fully

74. Fill in the blanks: Neither Ram _____ Shyam arrived.

a) or b) and c) nor d) the

75. Identify the type of Pronoun - The bag which he gave to me is lost.

a) Possessive Pronoun b) Reflexive Pronoun
c) Personal Pronoun d) Relative Pronoun

SUBJECT - ‘C’ : GENERAL KNOWLEDGE

76. Who wrote our National song?

TART TS AT et foram?

a) Bipin Chandra Pal b) Swami Dayanad Saraswati
c) Bankim Chandra Chatterjee d) Rabindranath Tagore

a) 9= =g arer b) TATHT cATeIE, TXETAT

¢) §fhe Ig Teait d) T T

77. The oldest Veda in the world is?

fRam et ya dgwlTaTd?

a) Sama Veda b) Yajur Veda

c) Rig Veda d) Atharva Veda
a) 9THAG b) ?J\_{_Iﬁ?\'

¢) Radg d) 372dag
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78. First Individual Olympic medal winner from Independent India is?

TaAT AR FT UgdT ST TFdId e UG RAstar Hia g2

a) Rajyavardan Singh rathore b) K.D. Jadhav

c) Abhinav Bindra d) Neeraj Chopra
a) Tsaati= f&g Taels b) I ST
SEUECCACES d) st II9sT

79. Who among the following is the Supreme Commander of Indian Armed Forces?

frafaf@a & ¥ s geares A3t 1 gafea FATST RIT 2

a) President of India b) Vice President of India
c) Defence Minister of India d) Finance Minister of India
a) HRd & Iseafa b) HRA & IURTSCYTT

¢) R o & HAT d) TR & I #7AT

80. The motto of the Indian Air Force is:

HRATT AT FaT 7 et AT 8

a) Nabha: Sparsha Diptam b) Sarvatra Sarvottama Suraksha
c) Valour and Wisdom d) Touch the sky with glory

a) oT87: T e b) HET Fafere G

c) e 3N e forar d) 3R & AT HTHATH T Gl

81. Who is the present Chief of Indian Army?
AR AT F TAATT GHE FleT 32
a) Gen.Upendra Dwivedi b) Gen.Manoj Pande c) Gen.Anil Chauhan  d) Gen.A.K.Singh

a) oIl 3Ueg GIAAGT b) TeRA AAIA IS ) STelkel Jifedel digled  d) el T.oh.Fg

82. is the highest peak of Africa.
IHT Y T S AN
a) Mt. Everest b) Mt. Denali c) Mt. Kamet d) Mt.Kilimanjaro
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a) AT3C Ta¥e b) AT3C SeATell ¢) A3 HAT d) A3 fh AR
83. The Taj Mahal is located on the banks of which of the following rivers of India?
dArered SR A ARRT A T A Fae T Rua
a) Ganga b) Yamuna c) Godavari d) Cauvery
a) 3131 b) THAT c) Ierardy d) Ay
84. Which one of the following is not a draught animal?
frfafld & @ Fia 71 v ARaTES T 76 &2
a) OX b) Donkey c) Horse d) Sheep
a) o b) aTeIT c) &er d) #s

85. Blue Revolution is related to which of the following?

el wifa i@ # ¥ frad gafaa &2

a) Fish production b) Edible oil production
c) Milk production d) Jute production

a) AGell 3cdTGel b) @I AT 3cUTGA

¢) q¥ 3c4reeT d) S 3cqrest

86. Which of the following is not a mosquito borne diseases?

T A s araceraRAa Ao adie?

a) Malaria b) Dengue Fever c) Sleeping sickness d) Filariasis
a) FARAT b) SITER c) e QT d) PSR
87. Which is the largest gland in human body?

AT IR A TR TN AT Fla @

a) Pituitary gland b) Liver c) Stomach d) Lungs

a) Fcgelr oty b) e c) %€ d) B3
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88. Which of the following is a non-communicable disease?

frfRRad ¥ s a-aadidord?
a) Measles b) Cancer c) Malaria
a) @E b) e ¢) HeIRT

89. Which is the highest mountain peak of Himalaya in India?
HRT A RATTT NG FN da aa s @A

a) Nanda Devi b) Bandarpunch c¢) Kanchenjunga
a) T edr YEMRLE] c) AT

90. Where is Nalanda University situated?

ATeieT R afaeaTery el foud &2

a) Sikkim b) Gujarat c¢) Uttar Pradesh
a) s b) ISRl c) 3T 9c2r

91. Earth rotates along ______ direction.

geft_ ReamH gae

a) East to West b) South to North c) North to South
a) & & ufeaH b) &f&IoT & 3T ¢) 3R A grayoT
92. ‘Tarapur’ nuclear power plant is located in the state of?
ARTYT TATV] ot 6 oy s o Feua @2

a) Maharashtra b) Gujarat c) U.P.

a) AGRISE b) IoTd c) U.P.

93. Where is the Ozone layer present?

3T e Tl AlE 82

a) Mesosphere b) thermosphere c) Stratosphere
www.wedacareer.com

d) Tuberculosis

d) &7 T

d) K2

d) &2
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d) Troposphere
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a) HEEHIRIT b) YATERAT ¢) HHAY HSoT d) &TsTHE e

94. Which state among the following has adopted Sanskrit as its one of the official languages?
Frafafaa ° 3 fra v A dvpd ot sru- it Wt & w0 & sru=mn 82

a) Uttar Pradesh b) Jharkhand c¢) Uttarakhand d) Punjab

a) IR U b) IRTS ¢) STRIES d) UelTa

95. The Brain fever which affects young children is

Bl T B THIRIT B 1T AfeTsD war gl

a) Malaria b) Tuberculosis c) Typhoid d) Encephalitis
a) HARAT b) & T S ELIES] d) s Aharsfey
96. The first Indian to get the Oscar Awardwas ______ .

TR RIPR UM a1 g HRATT P A2

a) Raj Kapoor b) Bhanu Athaiya ¢) V.S. Naipaue d) Minir sen

a) X PR b) HT 31T c) 4109, Argur d) RS

97. Which river of India is known as ‘Sorrow of Bengal’?

YRA B DI A A] ST DT P & A0 A ST ATt g2

a) Ganga b) Yamuna c) Damodar d) Hoogly
a) T b) THAT ¢) TR d) §Telt
98. The crops which are sown in summer season called?

fiq g A d1E 11 9Tell BHal B 1 HEd 82

a) Kharif b) Zaid c) Cash d) Rabi

a) TH b) TG ¢) TPhg d) T&t

99. Which is the largest tribal group of India?

YRT BT I TST TSI THE P A1 32

a) Bhil b) Gond c) Gurjar d) Santhal
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a) Hid b) S ¢) ToR d) JuTe

100. The study of Moon is called?

UGHT & Y B T BT STl 82
a) Selenology b) Cosmology c) Planetology d) Pedagogy
a) araroit b) SRS fa c) g fam d) e

SUBJECT - ‘D’ : INTELLIGENCE

101. Find the missing term: 1800, 1760, 1720, 1680, ?

YW UG [Td DIOIT: 1800, 1760, 1720, 1680, ?

a) 1640 b) 1620 c) 1630 d) 1650
102. Find the missing term:1, 4, 9, 16, 25, 36?

I UG [ B: 1, 4, 9, 16, 25, 362

a) 64 b) 49 c) 81 d) 121
103. ‘A’ is B’s father but B is not A’s son. Who is B?

‘A, B BT UAT 8 AfP B, ABT TS 81 B BT B?

a) Daughter b) cousin c) daughter-in-law d) wife
a) & b) TRRT HTS REH d) Uelt
104. The man is related to house in the same way the bird related to-

o 7R st R | Hafta § S R velt faw et 32

a) cave b) nest c) tent d) water
a) I b) TiGar c) d) gt
105. Complete the following analogy: Flood : drought:: genius: ?

FrafafeT T Qo 916 : J@r : ufawr: »

a) Foolish b) Intelligence c) Think d) cruel
a) T b) If& c) T d) &
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106. Complete the series: MM, NN, OO, PP, ?
G Ui H3: MM, NN, 00, PP, ?
a)QQ b) RR c)bD d) ss
107. In a queue Shashank is 7" from the either end. How many boys are in the queue?
TS $dAR | RSP GIH1 O | 73 R”IM W | FaR | fora— agd 72
a) 12 b) 14 c) 13 d) 15

108. At the time of sun set Rishika is facing north. Her shadow will be towards-

gl & T BRST IR o1 3R g 3 WSl 81 39! o frd sk ghfte

a) South b) North c) East d) West

a) Gf&ror b) ST ogd d) ufgm

109. Choose the word which least like the other words in the group.

98 U g ofl 94g & 39 VG| & Jad HH fedr Jaar gl
a) PEEL b) FRY c) BAKE d) ROAST
a) B b) AeT c) HepHT d) Y

110. which of the following diagram indicates the best relation between flower, lily, jasmine

Frafafea 9 @ o1 a1 svE g, forcht, a9 & fo gad sro1 ddy qufar 3

a) b)
Ofe

OO0 Y am

111. If ‘A’ means add, ‘B’ means ‘subtract’, ‘C’ means multiply and ‘d’ means divide, then what would
be the answer of the equation?

c)

gfe ‘A BT 3 SireA, B &1 3 g, ‘¢ BT 31 U HAT R o BT 3 YT AT |, @
ST BT IR T gR?

20D4C2A4
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a) 12 b) 14 c) 18 d)17
112. If CATTLE is related to HERD then LION is related to : CATTLE: HERD :: LION : ?

afe WAL g & e & A 9 e e & - WAL g« 2R

a) SWORM b) FLOCK c) MOB d) PRIDE

a) P b) g o) s d) urgs

113. If in a certain code DEAF is written as 3587 and FILE is written as 7465 then IDEAL will be written
as?

gfe fedt fAf3a wYs W pEAF BT 3587 3R FILE BT 7465 FRaT wITaT 3 < IDEAL Tt fohs TR o
SITET?

a) 43586 b) 63548 c) 43568 d) 48536

114. Choose the correct alternative that has the same relation to EPV as BMJ is to EPM
el fasweu g fora®T epv A TE AU T T BMIPTEPM T B

BMJ: EPM :: EPV :?

a) DNM b) HSY c) HSW d) GTV

115. Find the missing term: 15: 225 :: 21: ?

Wﬁmm: 15: 225:: 21: ?

a) 441 b) 421 c) 431 d) 451

116. If in a certain code BRL is coded as DTN then MBS will be coded as?

gfe foeadt fAfda s # BrL &Y DTN foraT STt 2 o1 mBs P fFd U R forar smemm?
a) OCU b) ODU c) OEV d) ODN

117. If x stands for addition, = stands for subtraction then4 x8+~5=7?

g xPTAT TS, x P A g T gl 4x 8- 5=2

a)4 b) 8 c)5 d)7

118. In a certain code ARTICLE is coded as ATRCILE. How is PICTURE coded in that code?

T A3 &S # ARTICLE BT ATRCILE for@T STaT 81 S ®18 # picTURE &) 5T TR ferar
SITET?
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a) PIERTUC b) CIPTURE c) PRTIEUC

119. Choose the OPTION which is different from the rest

98 faey g9 &l 911 | e @
a) Pencil b) plate c) book
a) URra b) @e ) JKPh

d) PCIUTRE

d) pen

d) hcH

120. Two positions of a dice are shown below. If 1 is at the top what number will be at the bottom?

= ve uE 3 41 fRufaat gwifE 7€ &1 afe 1 999 SR @ o 999 R @ 3 d=n gl

a)2 b) 3 )5

121. Find missing number?

I ST [T B2

d) 6

6 8 ?

a) 18 b) 6 c)9

122. How many rectangles are there in the given figure?

3t € nrpfa ® fopeq Mo 82

a)4 b) 5 c)6

d) 12

d)3

123. Choose the correct water image of the given question image from amongst the four alternative:

o T AR fawen & | f}w e wy foxr &1 98 o1a o g
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L
RINEE

(] «) W
a) (a) b) (b) c) (c) d) (d)
124.
;
| G S
b I l
_/
I_._J
c) (c) d) (d)

a) (a) b) (b)

125. Select one of the answer figures which replaces the mark of interrogation?

T g & VI R 3 a1 IR BTl | I Th BT 997 B2

Question Figures

Al e :[@]:]

Answer Figures

o |=| e @

a)(a) b) (b) c) (c) d) (d)
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